N3meHuTb 371emMeHTbl maccnBa SWITCH: genswymwecs Ha
4 nogenntb Ha 2, Aesnsimnecss Ha 4 ¢ octatkom 1
3aHy/INTb, AefiaUmnMecs Ha 4 ¢ OCTaTKOM 2 NMOMEHSTh
3HakK, Aenswmecs Ha 4 ¢ oCTaTtkoM 3 yBE/INYNUTb Ha /.

import random import random
mass=[-20,-4,6,66,-3,20,5,-1,7,6,-4,123] mass=[-20,-4,6,66,-3,20,5,-1,7,6,-4,123]
i=0 i=0

while i<=len (mass)-1: while i<=len (mass)-1:

if mass[i1]%4==0: stop=0
import random mass[i]=mass[i]//2 if stop==0 and mass[i]%4==0:
mass=[-20,-4,6,66,-3,20,5,-1,7,6,-4,123] B PYTHON HET, ecrs B C++, JS, JAVA, PHP... i+=1 mass[i]=mass[i]//2
1=0 import random continue stop=1
while i<=len (mass)-1: mass=[-20,-4,6,66,-3,20,5,-1,7,6,-4,123] if mass[i]%4==1: if stop==0 and mass[i]%4==1:
if mass[1i]%4==0: i=0 mass[i]=0 mass[i]=0
mass[il=mass[i]//2 while i<=len (mass)-1: i+=1 stop=1
elif mass[i]%4==1: 7%4=3 switch mass[i]%4: continue if stop==0 and mass[i]%4==2:
mass [1]=0 3%4=3 case 0: if mass[i]%4==2: mass[i]=mass[i]* (-1)
elif mass[i]%4==2: 20/04=2 mass[i]=mass[i]//2 mass[i]=mass[i]* (-1) stop=1
mass([i]=mass[i]*(-1) 10%4=2 break i+=1 if stop==0 and mass[i]%4==3:
elif mass[i]%4==3: case 1: continue mass[i]=mass[i]+7
mass[i]=mass[i]+7 CW,php,js mass[i]=0 if mass([i]%4==3: stop=1
i+=1 -3%4=-3 break mass[i]=mass[i]+7 i+=1
print (mass) 6%4=-2 case 2: i+=1 print (mass)
mass[i]=mass[i]*(-1) continue
Python break print (mass)
COENATb EWWE OBYMA -3%4=-3+4=1 case 3:
CHOCOEAMVI _6%4=_2+4=2 mass[i]=mass[i]+7
1)continue break
2)stop 1421

print (mass)



